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Ideas : a differential equation is a recursive recipe for computing a power series .

ffx) -- ffk) , Hot -- O ⇒ an '- t, ⇒ flat -- EI
←

e
"

Then this power aeries becomes the definition of exponential function .
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Problem : This series has 12=1 so only guei a factor on domani GI, I )

⇒ only get In (x ) on donati (Q2) X Not a good approach .



Exude My favorite . Due to Newton n 1665

Binomial series . a- Binoinialtheaem Classical ) LE IN = {91,4 . - - 3
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⇒ Wha LEIN , generalised binomial Cf is the usual one for Pascal 's A .
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So : ffx ) -- ⇐ (9)x " on C-b l ) satisfies deff req .

( Ita) fllx) = A f- Gel , f-6) = I

Now solve this by separation of carabin to work out what fuckin ffx ) is - - -
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Tayloisthecnem If ffk) is a function which is a - ly differentiable at x-O
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- f
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"
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n - th Taylor polynomial
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t with Hls txt .


